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  x: COMPUTE time (CPU kTics)
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L2 COMPUTE time per input event Entries  12152

Mean    6.368

RMS     4.431

Underflow       0

Overflow        0

L2 COMPUTE time per input event

 x: time in this run (seconds)
0 200 400 600 800 100012001400160018002000

 y
: 

ra
te

 (
H

z)

2
10

rate of COMPUTE Entries  12152

Mean    53.47

RMS     9.677

Underflow       0

Overflow        0

rate of COMPUTE

Input: 0=comp, 1=decis, user ..., 10=accept,...user
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total events. 0=anyInput 10=anyAccept 11=normalAccept 12=rndAccept Entries  24304

Mean        1

RMS       0.5

Underflow       0

Overflow        0

total events. 0=anyInput 10=anyAccept 11=normalAccept 12=rndAccept

 x: # ETOW towers
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ETOW-compute: #towers w/ energy /event Entries  12152

Mean    1.746

RMS     1.333

Underflow       0

Overflow        0

ETOW-compute: #towers w/ energy /event
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 x: # ETOW towers
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ETOW-compute: #seed towers ET>4.20 GeV / event Entries  12152

Mean      0.5

RMS         0

ETOW-compute: #seed towers ET>4.20 GeV / event

 x:cluster ET(GeV) 
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ETOW-decision: acc cluster ET>5.50 GeV Entries  12152

Mean      0.5

RMS         0

ETOW-decision: acc cluster ET>5.50 GeV
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